                              



                                              


            



 



                                   








UCO/CT/2003(COMC)
                                                                                                               UBC/CT/2003(BCMC)

B.Com. /B.Com (C.S.) DEGREE EXAMINATION, APRIL 2017.

I YEAR — II SEMESTER

Major Paper III — FINANCIAL ACCOUNTING — II
Time : 3 hours
                                              

   Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1.   What is a Dependant branch? 

2. What is Realization account?

3. What is Default and repossession?

4. What is Debtors system? 

5. What do you mean by indirect expenses?

6. What is Gaining Ratio?
7. There are two departments in a firm X and Y

Goods are transferred from Dept. X to Dept. Y at usual selling price. You are required to compute stock reserve on stocks of Dept. Y from the following data:

G.P. Ratio of Dept. X : 25% on Cost

Opening stock of Dept. Y : `50,000

Closing  stock of Dept. Y : `75,000

8. Apportion the following expenses on the basis of cost of goods sold ratio among the four departments, A, B, C & D:
Sales (`)
: A : 2,00,000; 
B : 1,50,000;

C : 1,00,000;

D : 50,000;

G.P. Ratio:  20% on sales.
Expenses : Salaries `6,000;  
  Rent  & Rates `1,500;
Insurance `1,300.

9. Compute Opening branch debtors balance from the following transaction:

Credit sales







`51,000

Received from debtors by the branch


`42,500

Branch Debtors(Closing)




  `7,700

Discount allowed to customers by branch

  `1,800

10. X and Y are partners sharing profits in the ratio of 3:2. They admit Z as a partner for 1/5th share in future profit. Calculate new Ratio.
11. A and B share profits in the ratio of 3:2. Z joins the firm with 1/4th share.  Find out sacrificing ratio.

12. Goodwill is valued on the basis of three years purchase of average profits of the preceding four years. The profits of previous four years were 2001: `16,000; 2002: `20,000; 2003: `18,000; 2004: `26,000. Find the value of Goodwill.

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. X, Y and Z were partners sharing profits in the ratio of 2:2:1.  Z retires and his share was taken up by X and Y in the ratio of 3:2.  Calculate the Gaining ratio of X and Y. 
14. Write a note on interdepartmental transfers.
15. Arul purchased a machinery under the hire purchase system from Mr. Balu.  The cash price of the machinery was ` 15,000.  The payment for the purchase is to be made as follows:  On signing the agreement ` 3,000; end of the first year ` 5,000; end of the second year ` 5,000; end of the third year   ` 5,000.  Calculate the amount of interest included in each instalment. 

16. Manian Ltd., of Calcutta has a branch at Patna.  Goods are invoiced to the Patna branch, the selling price being cost plus 25%.

The Patna branch keeps its own sales ledger and transmits all cash received to Calcutta.  All expenses are paid from Calcutta.  From the following details prepare the Patna branch Account for the           year 1989.


   `





  



 


Stock (1.1.89) (Invoice price)
  1,250


Stock (31.12.89) (Invoice price)
1,500


Debtors (1.1.89)

   700


Debtors (31.12.89)

   900


Cash sales for the year

5,400


Credit Sales for the year 
3,500


Goods Invoiced from Calcutta   

9,100


Rent

   400


Wages

   340


Sundry expenses

     80

17. Ram, Rahim and Suresh share profits in the ratio of 3:2:1.  On 31.12.94, their Balance Sheet was as follows:

Liabilities                  
     `
Assets                                 `
          Creditors
12,000
Machinery

            25,000

General reserve
  3,000  
Stock



     11,000

Capital:


Debtors

     

       9,500


Ram
20,000
Goodwill

 

     13,000


Rahim
15,000
Cash


                     1,500


Suresh
10,000


                         …………



                       …………..



60,000   
                             

     60,000

                                                            …………



                       …………..

On the above date, the firm was dissolved.  The assets except cash realized ` 60,000.  The creditors were settled at ` 11,500.  Dissolution expenses amounted to ` 800.  Give necessary ledger accounts. 

18. A firm earned net profits during the last three years as follows: 


I     Year

- ` 36,000


II    Year

- ` 40,000


III   Year

- ` 44,000

The capital investment of the firm is ` 1,20,000.  A fair return on the capital having regard to the risk involved is 10%.  Calculate the value of goodwill on the basis of three years purchase of super profits. 

19. What are the features of dependent branches?
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.

20. The following was the Balance sheet of Ram, Laxman, and Kannan who were equal partners on 1st June, 1995.

Liabilities               

`

                  
  Assets
               
`
Bills payable 

   6,600


                Cash


   1,200

Creditors


 12,000


                Debtors
  
 21,600

    Capital A/cs





                       Stock       

 22,800

    Ram                

 33,600                 

 Furniture
    
   4,800


    Laxman

        25,200


                Buildings
  
 39,000


    Kannan           

 12,000





                     -----------



                           -----------




                       89,400





                       89,400

       -----------



                           -----------

They agreed to take Krishnan into partnership and give him 1/4th share in the profits on the following terms:


(i)   That Krishnan should bring in ` 18,000 for goodwill and ` 30,000 as capital


(ii)   That one half of the goodwill shall be withdrawn by the old partners.

(iii)  That stock and furniture be depreciated by 10%


(iv)  That a provision of 5% on debtors be created for doubtful debts


(v)   That a liability for ` 2,160 be created against bills discounted.


(vi)  That the value of the building having appreciated, the building should be valued at             

          `54,000.
Prepare Revaluation account and opening Balance sheet of the firm.

21. A firm had two departments, cloth and readymade garments.  The garments were made by the firm itself out of cloth supplied by the cloth department at its usual selling price.  From the following figures, prepare departmental trading and profit and loss account for the year ended 31-3-94.







           



 Cloth Dept.
             Readymade Dept.








     




   `
                 

 `


Opening stock on 1-4-93


  
   3,00,000
                50,000



Purchases






 20,00,000
                15,000



Sales







 22,00,000
             4,50,000



Transfer to readymade garments dept.
   3,00,000
                   --



Expenses – manufacturing

                     --

                60,000





   - Selling

 
    
     
      20,000
                  6,000



Stock 31-3-94




 
   2,00,000

   
  60,000

The stock in the readymade garments department may be considered as consisting of 75% cloth and 25% other expenses.  The cloth department earned gross profit @15% in 1992-93.  General expenses of the business as a whole came to ` 1,10,000.

22. A  and B are in equal partnership. Their Balance Sheet stood as follows:


     Liabilities
     `

       Assets

 

   `
Capital A

         600
Plant and Machinery

1,475

Sundry creditors
      3,900
Furniture

                 400








Debtors


  

   500








Stock


                 625








Bank


                 300








B’s Capital

              1,200



                ----------



                -----------



                   4,500




 
             4,500


                       ----------



                 -----------

The assets were realized as follows:

Stock ` 350, Furniture ` 200, Debtors ` 500 and Plant and Machinery ` 700.The cost of collecting and distributing the estate amounted to ` 150. A’s Private Estate is not sufficient even to pay his private liabilities, whereas in B’s private estate there is a surplus of ` 50.

You are required to close the books of the firm.

23. Knight purchased a truck for ` 1,60,000 from S. Waugh on 1-1-93 payment to be made ` 40,000 down and ` 46,000 at the end of first year, ` 44,000 at the end of second year and ` 42,000 at the end of third year.  Interest was charged at 5%.  Knight depreciates the truck at 10% p.a. on written down value method.  

Knight, after having paid down payment and first instalment at the end of the first year, could not pay second instalment.  The seller took possession of the truck, and after spending ` 4,000 on repairs of the asset, sold it away for ` 91,500. 

Give ledger accounts in the books of both the parties. 
————————






[P.T.O.]





[P.T.O.]








PAGE  
1

